
TIME-of-DAY (ToD) / MANUAL (ToD) REPLACEMENT TIME (E.E.T.) WORKSHEET

DATE:__________EVENT:_____MEN____WOMEN____RUN____CHIEF CALCULATIONS:______________________

TIME-of-DAY (ToD) MISSING: _____START  or   _____FINISH
*Precision of time-of-day as used by timing device; minimum of 1/1000 precision required.
                                               
     COLUMN A         COLUMN B
     | START/FINISH      
|
START/FINISH        
| SYS.B/MANUAL
| SYS.B/MANUAL
RACER| SYSTEM B ToD*     
|
SYSTEM A ToD*       
|   TIME     
|    TIME
BIB #| (or MANUAL ToD*)   
|(or MANUAL ToD*)    
| SHORTER (+)
| LONGER (-)
     |                   
|                    
|           
|    
____ │ _____:_____._______ 
| _____:_____._______
| _____._______
|  _____._______

____ │ _____:_____._______ 
| _____:_____._______
| _____._______
|  _____._______


____ │ _____:_____._______ 
| _____:_____._______
| _____._______
|  _____._______


____ │ _____:_____._______ 
| _____:_____._______
| _____._______
|  _____._______

 
____ │ _____:_____._______ 
| _____:_____._______
| _____._______
|  _____._______


____ │ _____:_____._______ 
| _____:_____._______
| _____._______
|  _____._______


____ │ _____:_____._______ 
| _____:_____._______
| _____._______
|  _____._______


____ │ _____:_____._______ 
| _____:_____._______
| _____._______
|  _____._______


____ │ _____:_____._______   | _____:_____._______
 | _____._______
|  _____._______


____ │ _____:_____._______ 
| _____:_____._______
| _____._______
|  _____._______



  


                   COLUMN A TOTAL +_____._______                   
      

                         COLUMN B TOTAL -_____._______

  


                     DIFFERENCE = (+)or(-)_____._______
                     DIVIDED BY 10 = (+)or(-)_____.________ = CORRECTION _______
                               
BIB # | TIME OF DAY               |(+) or (-)       | REPLACEMENT TIME OF DAY

_____ | _____:_____:_____._______ |  _____.________ | _____:_____:_____._______ 
_____ | _____:_____:_____._______ |  _____.________ | _____:_____:_____._______ 


PROCEDURE TO BE FOLLOWED WHEN BOTH START & FINISH SYSTEM A TIMES ARE MISSED.
Bib # _____





Fn. ToD_____:_____:_____._______








St. ToD_____:_____:_____._______








Net Time: �______________           





**If both Start and Finish ToD impulses are missed, replacement ToD’s must be calculated for each ToD impulse as outlined in ICR 611.3.2.1. 


Net time is then calculated and verified.


(Use 1 form for Start ToD replacement calculation and 1 form for Finish ToD replacement calculation; complete net time assignment on Finish ToD calculation form.) ALL CALCULATIONS MUST BE SUBMITTED WITH TDTR!
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